Trigonometry and Triangles:

1. If k=3 and m=4 find q.

2, If q=15 and m=9.8 find k.

3. If m=7 and ®=36° find k, g and 8.

4. If m=14 and g=17 then
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7. If =145 and ®=19° find k and m.

8. If q=0.665 and 8=54° find k and m.

9. If g=64 and ®=64° find k and m.

10. If g=35 and $®=21° find k and m.

11. If g=547 and 8=38° find k and m.

12, If m=71 and ®=29° find k and g.

13. If k=49 and 8=59° find q and m.

k= 7 m=_L40
k=_0.39 m=_0- 5%
k= S8 ym=__ &

k= /3‘" m=__ 3.3

= 430 340
k= gg’f’i 39 o=

- 15 = 82




14. Consider the following right triangle:‘

A. Find M. M
B. Find N. 5go

88cm

p-d

M =88 (Cos S8
M = Z’f;; QW\ 0

{V %%Qw\( [R/a} ”} %
N - v?g):(;.mf\%

15. How tall is the tree?




